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Instructions: (1) Check the question paper for fairness of printing. If there is any lack of fairness inform the Hall
Supervisor immediately.
(2).Use Blue or black ink to write and underline and pencil to draw diagrams.

@YUy : @eialletngsmer pre@ U@GDsmers 6% merLg).

Note : This question paper contains four parts.
U@ -1/ PART - |
@nlly : (1) @uildale o arer yemerss alarTsseEps@GL aflew_wellssayLd . 14 x1=14

(2).Qsr@gsLuL  Qetar prciE wIPD e saile lesayd apyew aflewulamer Cain0lsBoa GPufL B s
aflen_ulleneruyd CFiga e1(LpSa LD,
NOTE : (1) Answer all the questions.
(2). Choose the most appropriate answer from the given four alternatives and write the option code and the
corresponding answer.
1. (a+2,4) wppis (5,2a+b) 9w wuflewss Gemgsar gwd etaflled  (a,b) erarg

(e (2,-2) (2. (5, 1) @ (2,3) (. (3,-2)
If the ordered pairs (a+2,4) and (5, 2a+b) are equal then (a,b) is
(@. (2,-2) (b). (5, 1) (c). (2, 3) (d).(3,-2)
22.A={ab,p},B=1{2,3},C={p,q,r,s} aafled n[(AUC) X B]| yars
(=y). 8 (24). 20 (@). 12 (). 16
A={a,b,p},B=1{2,3},C ={p,q,r,s} , then n[(AUC) X B] is
(a) 8 (b) 20 (c)12 (d) 16
3.65 wpmps 117-wier B.Qumarewen  65m — 117 eraiip augaled erpgdGuimg , M -uiesr iy
(). 4 (24). 2 (@).1 (). 3
If the HCF of 65 and 117 is expressible in the form of 65m — 117, then the value of m is
(a). 4 (b). 2 (c).1 (d).3
4.59=3 (wi'® 7),46 = 4 (0" ®7) womd 105=x (w'® 7), 13 =y (b ®7) etasflad. X, Y-a5T o@1iy
(=1). 0 wpmnd —1 (<y). 7 wpmid 6 (@). 7 wpmd —1 (). 0 wpmid 7
If 59 =3 (mod7), 46 =4 (mod 7) ,and 105=x (mod7), 13 =y (mod 7) then,value of x and y
(a).0 and — 1 (b). 7 and 6 (). 7 and — 1 (d). 0 and 7
5. x2 4+ 4x + 4 erein @@Ly usdimiLiyg Camenar X-dGsm® Qeul Gib 1yetefselar eresientlsems
(). 0 (2. 1 (@).0 syebewg 1 (). 2
The number of points of intersection of the quadratic polynomial x2? + 4x + 4 with X-axis is
(a). 0 (b). 1 (c). 0 or1 (d). 2
6. 5 Qg LOIMILILSE CHrenauuileT eueILIL LD G
(<21 CriGsn (2p). L 1b (®). ugeue»aTWILD (/). 9IB)LITGUGHGTULILD

Graph of a quadratic polynomialis a .....c.cceeceececierierennene.
(a). straight line (b). circle (c). Parabola (d). hyperbola
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7.AABC,—u9«,DE || BC,AB = 3.6 GQ&.18, AC = 2.4 Q&.18 wpmids AD = 2.1 Q&8 ereslad AE —u9esr Barid

(<y). 1.4 Qg8 (). 1.8 Q&8 (@). 1.2 Q&8 (m). 1.05G) & 18
Ifin AABC, DE || BC , AB=3.6cm,AC=2.4cm and AD = 2.1 cm , then the length of AE is
(a). 1.4 cm (b). 1.8 cm (c).1.2cm (d). 1.05 cm
8. P, Q, R era@ruesr AABC —a1 Ligsmisaier p@Liyetalsaer ereflled , APQR wpmis AABC-ar ugliyseier a)@gLd
(o).1:1 (2).1:2 (@.1:4 (m).2:3
If P, Q, R be the mid-points of the sides of the AABC , then the ratio between the area of APQR and AABC.........
(@. 1:1 (b).1:2 (c).1:4 (d).2:3
9.7x =3y +4 =0 eraip CrisGar’iyp@d OFmiGssrsaw, @ Liearel afld QFaayd CrisGar ger FwearLm®
(@).7x—3y+4=0 (2).3x =7y +4=0 (@).3x+7y =0 (m).7x —3y =0
The equation of a line passing through the origin and perpendicular to the line 7x —3y+4=0is
(@.7x—=3y+4=0 (b). 3x =7y +4=0 (€).3x+7y=0 (d). 7x=3y =0
10.sinf = cos@ eafled 2tan® @ +sin? 0 — 1-air wHLiy
-3 3 -2
().~ ()5 (@3 (m. =
If sin@ =cos@ , then 2tan?6 +sin?6 —1 is equal to
(a). 2 (b). 5 (0.5 (d. =
11. i <15 CanarsSHer CrSSLILITLL] ST YTSB UL W UISHSBET...... ... ... DL IS TG LD
() T (). 41 (@) .31 (). 2TC
The total surface area of a hemi-sphere is how much times the square of its radius.
(a). ™ (b). 4m (c). 3w (d). 2m
12. g6 5 Q&8 wpmid gnywgd 13 &5 o e w Grieu’t & Fwmibiiar o wyLd
(2)). 12 Q5.8 (<24). 10 Q.15 (@). 13 Q=18 (7). 5 Q&1
The height of a right circular cone whose radius is 5cm and slant height is 13 cm will be
(a).12 cm (b). 10cm (c). 13 cm (d). 5cm
13. @@ soafler ggned wppid wipur’ Gs 0sw weapGuw 4 wimid 87.5% eaaflled FL L alewssorearg
(=). 3.5 (). 3 (@). 4.5 (/).2.5
If the mean and coefficient of variation of a data are 4 and 87.5% , then the standard deviation is
(a).3.5 (b). 3 (c). 4.5 (d). 2.5
14. @ oest(®) LS L_SF6T @B (Lpewm o (hL L LILIBHFH @It (Lpd WHLiLFHeNeT FoBiFed 9 Henl_LILIFDEHTT BSLHSHa
9 3 1 9
(SN 73 ()73 (@)= (m)=
Two dice are thrown simultaneously. The probability of getting a total of the face value as 9 is
1 1 9 5
(a):3¢ (b). 5 (c) 3¢ (d)g
U@ - Il /PART -1I
oy : 10 aflearsseps@ el wellss et eraw 28—8@ sL L Twions alleL waelgsa . 10 x2 =20

Note : Answer any 10 questions. Question no. 28 is compulsory

15.A={1,2,3,7} wpmpdt B={3,0,—1,7 } aalla 9areumaicaaunped stanas A-awpa B-gsrer o paysarmegLh ?

()-Ri= {21, 7 D} (i). R, ={(2,-1),(7,7),(1,3)}
letA = {1,2,3,7}and B = {3,0,— 1,7}, which of the following are relation from A to B?
(). R = {2 D, 7 D} (i). R, ={(2,-1),(7,7),(1,3)}

16. f(x)=3x+2, glx) =6x—k wppid fog = gof eafled k-uier w@liewLs smes.
Find the value of k ,such that fog = gof for f(x)=3x+2 , gx)= 6x-k
17.13824 = 2% x 3 srafled a woms b -tar wHLiews sness.
If 13824 = 22 x 3P, then find the value of a and b.

18. @@ wrewteueTt wpsed prar X 10 -1d, @uewrmd paer X20-15, epasipaid paer X 40-16 eresip euewasuiled CHLOEEH D TerT 6Tes)ed
10 prsafled 9jeuat C#llgs Osmews eTalaiara) ?
A boy saves X 10 on the first day , 220 on the second day, X 40 on the third day and so on . How much did the boy will
save up to 10 days ?
19. Gsremeuuilesr aflevsSLiLIL L D@LIL] HTewHTs %
x%+ 6x +8

Find the excluded value of the expression 5
X4 +x -2
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20. apvmsaier swBsed wPnid CuBsspLwer —9 womid 20 erelled QBLIGF FLOGTLTL VL & ST,
Write down the quadratic equation whose sum and product of the roots are —9 and 20.

21.15x%2 + 11lx + 2 = 0 ereip @Q@BLIYE FLORTLTHSNGT ApEISIGT SETOLO®WS &Ta5s
Determine the nature of roots for the following quadratic equations: 15x% + 11x + 2 = 0

22. A ABC yegy ADEF -8 auigQeurggeneu. Ggyd BC = 3 Q«.18, EF = 4 Qa.18 wopmid p&Csmewtd ABC -ufler
LgLiy 54 Q&.18° eresflad A DEF -wiesr Ligliviarey smess.
If AABC is similar to ADEF such that BC = 3cm, EF = 4cm and area of AABC = 54cm® Find the
area of A DEF.

23. (=2,5),(6,-1) woob (2,2) Sw yeelsar @b CsTL_amiwps LeTalser eerd ST (5.
Show that the points (=2, 5), (6,—1) and (2, 2) are collinear.

24. smiey 3 wpmid X-Qeul Gggie® —5 GCsmer CriGsm 19 6T FLOGTILITL DL &Tesws.
Find the equation of the straight line with slope is 3 and X-intercept —5.

25. @@y Caryd e isGd O\FmGSs s 2 artarg). CHrLrs@er 9 LiLG@ulledprs saguiled 48 15, Cgmeamevalley o arar
@ yearelulelmpg Csmyr o d@uisr appmaCGarewid 30° erafled, CETLISSHT 2 WIS SIS,
A tower stands vertically on the ground. From a point on the ground, which is 48m away from the foot of the tower,
the angle of elevation of the top of the tower is 30°. Find the height of the tower.

26.704 #Gl&18 Qurgstt yplingliy QsmesiL gb gnLbLler L uLd 7 Q& 15 e16wfle, S8 FTWWILD HT6wTs.
If the total surface area of a cone of radius 7 cm is 704 cm’, then find its slant height.

27. saflwest Qsmew® Gewiwiii 't 24 Q&5 o wywpeTar @@ Fmldbewls @@ GLbeS HCF YILPGTaT G 2 (HeWaTLTS
IPnIFDS  6Talled , 2 (henaTuies o WILD FTCuTs.
A cone of height 24 cm is made up of modeling clay. A child reshapes it in the form of a cylinder of same radius as
cone. Find the height of the cylinder.

28. n=10,% =12 wppud Y, x> = 1530 erafed wrpyum’ @ Qsupeas smews.
If n=10,% =12 and Y x? = 1530, then calculate the coefficient of variation.

ua®- Il [/ PART -1II

&y : 10 aflemmsseps@ ol walss allarr ey 42-8@ SLULTwions afenL weilshsEaLb. 10 x5 =50
NOTE : Answer any 10 questions. Question Number. 42 is compulsory

29. A araiiLig) 8 -g0 @flL_gG@Gempaeures @ uied eTeisaier sewiid, B eraig 8- g @il & Gempeures LIS erevsSee %ewiLh
wpnpib C  ererugy @Qolenl ey Lsmerasaiar sewd eiesfieo (ANB) X C = (AXC) N (B XC) eraiLiens
FHUTISSLD.

Let A = The set of all natural numbers less than 8, B = The set of all prime numbers less than 8, C = The set of even
prime number. Verifythat (ANB) XC = (AXC) n (BX ().

30. f : A = B e1eip gmgunesg) f(x) = g — 1 et auewrumIEsSLILESDSG. @Qme A ={2,4,6,10,12},B ={0,1,2,4,5,9}
A5 Qo@D Qurupg Friyy  f-go LeTauHLd (LpedDFHafed &nl5s.

(i)..cufewas Camig &aflesr %ewrLd. (ii). <oy _cuenemr (iii). yOYSGOILILIL LD (iv). euemgiiL_1bd
Let f : A > B be afunction defined by f(x) = % — 1, whereA={2,4,6,10,12}, B={0,1,2,4,5,9 }. Represent
by (i). set of ordered pairs (ii). a table (iii). an arrow diagram (iv). a graph.

31. @@eud st Qupp ep 65,000 sLmenr HBLILIF Qeags wpsed gL ¢5.400 CFayssBw . s Ln@ e@al6leu s
wISUPLD  (pBwSW Lasd CFaysPwens afl b 300 mBswTs CFISSHBDTT. ol QBSE FL T IeHL &%
eTaIeuaTe) STty Gsemeulii(pLd ?

A man repays a loan of Rs.65,000 by paying Rs.400 in the first month and then increasing the payment by
Rs.300 every month. How long will it take for him to clear the loan?

32. Gganaflib 10 Q&.8, 11 &8, 12 Q&1 ........ 24 Q&8 ara@ip LSS yetayarer 15 &7 Qg GuesHTewIS FTHSmIS6T
2 GTaTes. @Q)BS GUGsTewIS STHSEIFGT CFTeHI() 6TAIUGTEY LITLIGHL WL G&G HVBIGHSS (LpguLd ?
Rekha has 15 square colour papers of sizes 10cm,11cm, 12 cm,.........., 24 cm. How much area can be
decorated with these colour papers?

33. 6x3 — 30x? + 60x — 48 wpmd 3x3 — 12x% + 21x — 18 YHw uDINILiILE CsTeoauseler 18.OLIT. a1 FTeTs.
Find the GCD of 6x3 —30x? + 60x — 48 and 3x3 — 12x% + 21x — 18.

34. x* —8x3 + mx? + nx + 16 er@rig wppeiissih erefled M wpPmyd M- L] HTewTs.
If x* — 8x3 + mx? + nx + 16 is perfect square,find the values of m and n.
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3s.4=(", 3) . B=(", 2) . c=(3 2) awhes. AB+C) = AB + AC awsisenss sumisis

IFA = (_11 ;) B=(_14 %) ,C=(_37 g) verify that A(B +C) = AB + AC.

36. wiPn et ggehs Capmsens e1(p® BHLIESeLD.
State and prove alternate segment theorem.

37.A(—4, 2) wppis B(6,—4) eaip yeraismar @) emenis@Ld s $$55/1%CHTL 16T FLOGTILITL 6L & &Tew15.
Find the equation of the perpendicular bisector of the line joining the points A(—4,2) and B(6,—4).

38. @ Gy o #Quller LBg 5 L5 o wyupaeTer SHLILD QLTRSS aussLILIL HaTeng). Seoguiled 2 arter ‘A’ eraip LeTaflufled
Qs swusPar 2 dfamw 60° appsCsrems@aid, Caryrs@ear o sQulalmrg ‘A eaip yertafleow 45°
QD355 Cs1eis DD LITISSTD, GHTLTSDGT 2 WISWSS & THTS. (v/3 = 1.732)

A pole 5m high is fixed on the top of a tower. The angle of elevation of the top of the pole observed from
a point ‘A’ on the ground is 60° and the angle of depression to the point ‘A’ from the top of the tower
is 45°. Find the height of the tower. (v3=1.732)

39. @ o Boaruiar 85 @f QL ESHTLLD Q)eHTBSUTN IeOLOBES (1 Ljesadler Owrss o wgth 20 GF 15, o (pevarulles
o wgth 12 QF18 wppyd el v 12 Q&8 @d. @ent Gsen_g@Her Cuwpym ol 1d 24 G&15 erafled Ljesred)er
Geueflliypll Lgliensd FHeiss B %

A funnel consists of a frustum of a cone attached to a cylindrical portion 12 cm long attached at the bottom.
If the total height be 20 cm, diameter of the cylindrical portion be 12cm and diameter of the top of the
funnel be 24 cm. Find the outer surface area of the funnel.

40. 18 Q18 gy uuperer 2 Gevrs Hesro Camerones o B SLILL®R  epain HPw QeuaiGaum syaraerear Csrersiseris
WUMFESL LGS DS IalieuTn eunissliu' L @uesi®h Hewio Camarsiseler gypmser peapGu 2 6F 5 wppid 12 Q& 18
e1asfled epeimTeugy CHTaTSHGE YTFH®SE HTeETS5.

A spherical solid material of radius 18cm is melted and recast into three small solid spherical spheres of different
sizes. If the radii of two spheres are 2 cm and 12 cm, find the radius of the third sphere.

41.52 & L (pser Csna &L Has1900ES @05 FL0B TBSSLLGERDE. HBSFEL B @)ument] FL B sjedevg LpsFEL®
VWG F@HLL| BIDF FLL 16 @QBLUUSDETT BlISHSHMaUSE F TS,

A card is drawn from a pack of 52 cards. Find the probability of getting a queen card or a face card or a black card.
42.A(-3,3), B(—1,—4) wpmpus C(5 —-2) eamer AABC -wier wenersar . M, N eraruer wpepGu  AB , AC
QPw ussmiseie pELUYeTelseT etafled MN gy eng BC 3@ Qenesr ereoreys MN = %BC eTGaTaYLD [BMI6yS.
The vertices ofa AABC are A(—=3,3), B(—1,—4)and C(5,—2).Mand N are the mid-points of AB and AC.
Show that MN is parallel to BC and MN =%BC.
u@% - IV/ PART - IV

GDILIL) : oyevesiggl ANesTs:is @@L allenL_wWallsEaLd . 2x8=16

NOTE : Answer all the questions.

43. (). PQ =8 Qa.8, LR = 60° 248 R-ampm PQ-3@ aeswiiul’ p®$Csrger fard RG = 5.8 G&.18 erewr
@ws@win APQR eaemps. R—-aSmrs PQ-8$@ wemguliult GaH50sTL g6 Bard  &mess.
(S5 )
(). O eweu ewiowonss Gsmewi 3.6 O& L8 gyupeTer el L b euenis. ULl L GFeT enlowSFSBrg 7.2 O b
Csrevaevallayerer P etaiip yetafleows @plsg <LiyereluledBpg 'L 5@0@&s OsTBHCsTRST oUenTs.
(a). Construct a APQR in which PQ =8 cm, ZR =60° and the median RG from R to PQ is 5.8cm. Find the length of the
altitude from R to PQ.
(OR)
(b). Draw a tangent to the circle from the point P having radius 3.6 cm, and centre at O. Point P is at a distance
7.2 cm from the centre.
44. (). xy=24 , x,y >0 eaa@p gL oS aUmIS UILIL GSLI LWSTLIGHSS
(i).x =3 erasfled , y— 298 snewns. (ii). y =6 eraflev , X —28 sess.
(SIvevg!)
(@) V=x2=9x+ 20 eraiip @)L FOSTUTL 196 QUTLIL LD QIDTBS! , HYUBHeT ioyselar SaTemiamuwis &Tewms

(a). Draw the graphof xy =24 , x, y >0 . Using the graph find,
(). y when x=3 and (ii). x when y=6
(OR)
(b). Draw the graph of y =x2—9x+ 20 and state their nature of solution .
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